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1. Find the perimeter of the figure. ﬁ ;9 = A‘f ArFrC ‘éf

ﬂ' 4 feet 7 feet p'-'- Cf—f' Y& al v
p< +72

10 feet
C

The perimeter is : feet.
Answer: 21 @ “"(/( (_A'f S(_@ :

e ———————
L

2. 6 meters
Find the area and the perimeter of the rectangle shown to the right. ]

2 meters W

e

A<l w
The area of the rectangle isl Ny '44 ( 6) (2 )
The perimeter of the rectangle is | 79 |
{1} O square meters. (2) O cubic meters. / - ’2 L_f 2/
) meters. ) square meters. - 2 ( 7 )
) cubic meters. ) meters. /7 = 2{ 6 ) T
</ TY
Answers 12 W ———
(1) square meters. @
16
(2) meters,

3. One triple fudge brownie contains 119 calories. How many calories are in 11 triple fudge brownies? / /

:calories /?'qL: N 5 . [l

() = H‘?(") Cvros s m”‘/&t ///47
Answer: 1309 = | "'_-5—;;
N @ AN
4. Find the average value of the following list of numbers.  / S+ /6 202+ Ly rig ~
20, 24, 29, 22, 15, 16 & =
The average value is s / Z 6 =

6

Al -
;‘/

Answer: 21
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4
5. Evaluate the algebraic expression for the given value. )( —& ‘,\/.746 =
x2-4x+6,forx=7 (7)2:_(/(7)7‘6 -
——— () 4776~
ify your answer.
¥ - 776 =
Answer: 27 Z(’ff‘:
6. Solve the équation. T g ) C}‘-—‘CE o :
5n+30 = 50 Hfﬁ{?a = ) CH—F 30 T50
n= Sﬂ%/% R RS STY —+20 =50
571 = i
s o —FJo= N2
Answer: 4 %7 - __é"‘:) @ cUz <O
7. Solve the equation. fj’r{-j‘7 —2 5= /(f) ""/&———27 ,_...7j -~z
55+5y=-25=14y—-12-2y 5‘7 ,__(_ 30 — /29 —/ L _;7-? - __i(_(:

e o Ly =5
Answer: 6 ~
— B s e £F RN o R BT, O
e o v ; —
. Find%of136. Loy /36 (Prices 2, 5,5, 7, Hy 15,17, 1.
ey 2136

1 :
2 of 136 is - {(Simplify your answer. Type a whole number, fraction, or mixed number, L@!
Z‘

' v '2"17__ 2"’;___ ? 2 Q_Z
Answer: 34 ;/21/"1 | =z / A 7_5‘( ( ” 6:17

% Find = of 18. White the answer in simplest form. *—g{: 1_ Y )7/ Z s Z /.-
’ ( 2 (17 26
g' of 18 isl l {Simplify your answer.) ,2-.— ,{é’é_‘é - 3 g = e
a 3 ,
Answer: 15 %;g:-'-—}: A — @ /
/ /
‘\_\_‘_‘_‘_‘_-_-_‘_‘—‘—-—
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A

10. A landscape architect is planning a border fora = s————— 23.66 foest ————» / =3 4 TC

flower garden shaped like a triangle. The sides \ < 23
of the garden measure 17.3 feet, 23.66 feet, / /J /7" ;_f ’ 667‘ a ‘ 07
and 22 8 feet. Find the amount of border 17.3 teet 17 8 feet
material needed. A \ / C
/7.30
The amount of border material needed is feet. 237.6¢
{Type an integer or a decimal.) + 22, J o
Answer: 63.76 6 3. 7 é
L e == - o _

11, Use the values of the coins given below. Write the value of the group of coins shown o7 '%_,-.}\ i AT,
to the right, To do so, it is usually easiest to start with the coin(s) of greatest value Iy K @j} : ”*\
and end with the coin(s) of least value. T ;l{:( - (éé =

5 P 2 e / v o d r = SRy 1

Penny  Nickel Dime Quarter 45T

i £, X q K__Z, ..)-(——-‘—'é- X A (53"a F
@@@ ios g0 0 P @Y
001 $005  $0.40  $0.25 /.06 A @}

v g O
The total value of the group is $ : .{~ o/ O
Answer: 1.50 . / ' 4 ;a
12.  Multiply. D
(- 8.3)(7.94)
(—8.3)(7.94) = (Type an integer or a decimal.) / 7 7
§7 )
Answer; ~ 65,902 6
e — e e i,
13. Multiply. A ,077 Z ( 6 ) 7y F_ 7. Z) =
(—6.79){-8.2) -
.’ﬁ___,——/ g
(-6.79)(-8.2)=| (Type an integer or a decimal.) / 5 S’ ’< ‘S ? (7 f =

h()ch\/'r Thra s M J

JUS 14v
4

Answer: 55.678

Rl

iof 36 3/26/2019. 8:51 AM



MATH.'I-STHSAN.—\NTFIESTAOSSMR—A]f‘redo Alvarez https://xlitemprod.pearsoncmg.com/api/v 1 /print/math
C < T70D

Find the circumference of the circle in terms of n. Then use C_< 1T (q )
the approximation 3.14 for = and approximate the — :
circumference. D - GO
) cimo
T S/ (4/

a. Find the circumference of the circle in terms of n. . &
Cc = 72569

14.

The exact circumference is ft.
— 3.y
b. Find the circumference of the circle using 3.14 as an approximation for x. )< ‘7" -
. n E _—__.-—-——_
The approximate circumference is ft. (Round to the nearest hundredth as needed.) QOO

(2T
Answers 40x w

125.60 (2 {‘5 O

15.  Find the circumference of the circle in terms of . Then
use the approximation 3.14 for n and approximate the
circumference.

C =217
C =27(q.7)

= < i;i:?’rﬁ_\;
c = 2(30¢)(7.7)

a. Find the circumference of the circle in terms of x. C < 'z (; U‘ ¥ ff)

The exact circumference is yd. G 60' ?/ 6)

b. Find the circumference of the circle using 3.14 as an approximation for x.

The approximate circumference is yd. (Round to the nearest thousandth as needed.)

9.7 vards

;

Answers 19.4x

60.916

—

16. A 1-ounce serving of cream cheese contains 9.1 grams of saturated fat. How much saturated fat is in 6 ounces of cream

cheese?
/ & g /

o — G - < &
Answer: 54.6 /(’V) = Ci‘/ /6) 5-(/06
Acs 55% (

- e
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17.  The diameter of a ferris wheel is 300 feet. Find its circumference. Give an exact answer and an approximation using 3.14

for x,

o D= 3w c = 1D
The circumference is | feet. C = 1T g X))
(Type an exact answer in terms of &)

The circumference is approximately | feet,
{Type an integer or a decimal. Round to the nearest hundred%p as ‘Trleeded.) C - 3 of ¥ D
4

= 3./% (2 V)
Answers 3007 X__ZVo_ EAlA4 (
B L C=q¢d. »
942.00 a9z
R T e '__“hﬁ—q_h____hq___ _/_Z/M-)O
18. Solve the following equation.
33X =~7,/¢

3.3x=-17.16
3.3 4L - —117,
X= (Type an integer or a decimal.) 2 < - E’gg—

A : =52 3 s
e S 1 .

19, Solve the following equation. 3.9 7 -+ 9. ’ -
34y+9.1=54y-4.4 3:¢9 P g

The solution is . (Type an integer or a decimal.) 3, Yo = ¢
3069 —S$ 97 < Sv9Z s,
e = meniuen _2[‘? < ’—fyo s

e i
20. Find the mean, median, and mode for the following set of numbers. If necessary, round the mean to gne decimdl place.

14, 20, 18, 12, 21 —> /'2-/ /'75 // 7/// 2 ./
The mean is .

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as needed.)

The median is .

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as needed.)

»

—

Answer: 6.75

Find the mode. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The mode is :
{Type an integer or decimal rounded to one decimal place as needed. Use a comma to

separate answers as needed.) (L ok / o —F /f _?,_ &., - _z’_i -

() B. There is no mode.

Answers 17 Z il M—(a(l" n = /X

18

B. There is no mode.

50l36 - 3/26/2019. 8:51 AM
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21. Solve the proportion. i C ’&
7

X

w|

X= (Type an integer or a simplified fraction.) e
= 72=9

Answer: 8 7 ’ - %
22. What is the sales tax on a jacket priced at 3475 if the sales tax rate is 6%7?
The sales taxis $ i /4 I ﬂ /
A “7)(- 76)

e T ——— —le
23. A stereo normally priced at $309 is on sale for 30% off. Find the discount and the sale price.

The discount is $f_—] A’ ﬂ /0 m

The sale priceisd_ | /4 3 v ‘f - 3 ’ 7 ( 30%
A = 50‘?""\1 70 ) chse g
Answers 92.70

216.30 Q/é 33\ 5‘-{‘@ rridg

24,

Answer: 28,50

_‘_‘_'_‘—'——._

The circle graph shows the number of students at Rockford Major and # of Students
College who are enrolled in various majors. Find the ratio of B Business 4100
Science majors to Business majors. B Computer Science 1500

O Science 1100

The ratio is . O English 2100

{Type an integer or a simplified fraction.) M History 700

Social Science 2500
s Cf A u
—_— e

Bu St f o

_\_\_\_‘_\_\_\_ ———

Answer: ﬂ _ZJ’ (7 /_)—.

41

1of 36 3/26/2019, 8:51 AM
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25.  The following circle graph shows the relative sizes of i]:;:n;nerica 1;;“1-
the continents of Earth. (\ : S
W Asia 30%

O Australia 5%
t O Europe 7%

| Antarctica 9% =T
B South America 12%

What percent of the land on Earth is accounted for
by Antarctica and North America together?

/6 %

B Africa 21%
—+ 7 %
_('-—_—__-
% z gy
(2= 25
-
Answer: 25 o =S
R T Ch =
26. The total amount of land of some za:icular countries is approximately 73,000,000 & Country A 30%
square miles. Use the graph to find the area of the Country F. »)
7 300000
X . 1
. 7
; 75000 09 =
PP Couniry F 11% | &=
73079° B Country G 5%

""-'_-___-__—___-'._
3/03 UIO\JL}'U

The area of the Country F is approximately square miles. o

Answer: 8,030,000 Cg/ / = e

Adult's fiction 33% | &
[3d Reference 16%
Il Cther 5%

"W Children's  fiction 2_2%_'__ _ ————

27. The circle graph to the right shows the
percent of the types of books available in a
library.

What percent of books are classified as some

type of fiction? B Nonfiction 24% 3 3 o,
£ 2.2 YL
The percent of bocks which are classified as some type of fiction is { {%. = 5- @

Answer: 55

Tof36 3/26/2019, 8:51 AM
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28. Ifthis library has 200,000 books, find how many books are in the >
f ot : H__'?‘ B Nonfiction 25%
category o er:e_ nce _O_': OEE,) r 7 Jl" B Children's ficlion 22%
-+~ > . @ Adult's ficion 33%
==
20 7%
7.
The number of books in the reference or other category is { books, ~ (i
Qoo o0
qoaoaO
Answer: 40,000 @ 0 ) Cio’?_)
o — 7
29. A - o
Find the length of the third side of the right triangle.

A=
T (D=
C 36— 6y = ¢
/700 = c

Jrinv =~ JSC-

Answer: 10
h‘“—'—__‘—-—-—.___ e

30. Find the ratio of the corresponding
sides of the given similar triangles.

The length of the third side is

P
The ratio of the corresponding sides of the first triangle to the second triangle is

] 20
({Type the ratio as a simplified fraction.) (,7

Answer: 7 9% -
i $-U

B : ___;Zﬂh
N

8 of 36 3262019, 8:51 AM
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3.

Given __Z___ - __)_(
/N 6

g:aengles Z (/V’) - (()() Cruss M "'-/a"
similar, ai - 6)‘( ; (f‘l 66
find th

u:kr:o:vn 2 6/ Z ? L/ OO
length of /Y— Lo % —r7

the side 6 - ___Q)

label

wiha. _ 4 0
variable, =

x= (Simplify your answer. Round to the nearest tenth as needed.)

Answer: 4.7 @ ( 3—" G)

32.

e
e rr— — — - . e - — = e

Given that the pair of triangles is similar, _,é_
find the length of the side labeled n, , q

Answer; 3 /'/ - } )
_-_-_'-_'_‘_-—\_

33. Given that the pair of triangles is similar, find the length of / g A i

the side labeled n. —_ T

o 2°
i) 30
J { 3( 39 -~ 6o H/
n
18
n= ‘
Answer: 9

34. Given that the pair of triangles is similar, find the

unknown length of the side labeled with a variable.

The unknown length is ] unit{s). x

Answer; 12

) OTN 3/26/2019, 8:51 AM
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56 ¥ Cvrus s

X(¢)<36(2n) ruth
¥x = 700

Yo E2

The height of the building is feet. ?
- X< 27 ¢
"

Answer: 225
e —— egs

36. A triangle is formed by the building's height - __2__'_5_
and shadow. Another triangle is formed by :
the flagpole’s height and shadow, Using the
following diagram, find the height of the
building.

36. Draw atree diagram for choosing a vowel, (a, e, i, 0, u) and then a number (1, 2, 3 or 4). Use the diagram to find the
number of possible cutcomes,

) A, : O B.
ﬂé;

4
N

v

S
—
hae'™
a
IQ‘
7\
A N

N

;

/‘f Vi !
Y A
» ] o

LT R P

5

e
N

e

Answers /d ‘_‘:\_'{é ‘\1’ |
P L |
s @//[ % / -
4 L ||
: .
C. .
20

10 of 36 T
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37.

Draw a tree diagram for spinning Spinner B 1 time. Use the the correct tree diagram below.

diagram to find the number of possible outcomes.

1 B.
Spinner B < R
R
J C. D
. : B R
Based on the tree. what is the number of possible
outcomes? R
B
A
\B
Answers R
A. B

11 of 36 3/26:2019. 8:51 AM
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Choose the correct tree diagram below.

O A,

wd B2~

AN
NN R

do gitder da waddm=de usd

O B,

>
1
—

RN

~

O
=

/"l<§
:&

https://xlitemprod.pearsoncmg.com/apifv 1 /print/math

38.
Draw a tree diagram for spinning Spinner A two times. Use
the diagram to find the number of possible outcomes.
Spinner 4
7 3
Based on the tree, what is the number of possible
outcomes?
Answers 1
o1 < o
/ 3
/
4 |
240
b &
y 2
Y |
b3 < 2
D. 3
12 0f 36

3/26/2019. 8:51 AM
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39. Draw a tree diagram for tossing a coin Spinner B
one time and spinning Spinner B
one time. Use the diagram to find the

number of possible outcomes.

®

E

N
£

O B.

O
o
O
o

e

AN AN AN

-—l/f\z
AN N

P R O P O B

LB P T F I
’7.\\7\
1
A,
prgit |

,,
f" J
~ T
—
=
™~
- 4\\ S

e
¥
=
o
e \-—‘\,"

4
.
T :
L

t‘<4 L

\ /i \ T

\ e -H

(e S S
1
N
NG

kN 1 -
‘ Jé:; T e \
Based on the tree, what is the number of possible outcomes? - - l

/AN

W - 3
Answers éi
~ ,H 3 ¢
e |
! (
3
J

40.  Suppose that the spinner shown is SpUN OARR-E| bilit
of the event that the result of a spinis A-8,C,D,E, ofF.,

The probability is I !

(Simplify your answer.)

Answer: 1

13 0f36 3/26/2019, 8:51 AM
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41. Suppose the spinner shown is spun once. Find the probability of spinning an odd numbe

The probability is . (Type an integer or a simplified fraction.)

Answer: 2
3

—

42. A marble is selected at random from a jar containing 5 red marbles, 4 yellow marbles, and 3 green marbles.

e

The probability that the marble is red is . {Type an integer or a simplified fraction.) 'L (0( ’f Yél oot 7;19;;
I — s
Answer: 5
S7re-r3

<
12 2—
&

43. Find the measures of angles x, y. and z in the figure.

What is the probability that the marble is red?

145°

The measure of angle x is °. /( / / i
YL O
The measure of angle y is ‘. ~7‘ (/%
= = (S hay
The measure of angle z is l = ({/V § // /(;/rb

X =35

Answers 35

145
35 /(:—- %
35 ¢

Y =/rs

14 0f 36 3/26/2019. 8:51 AM
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44.  Find the measures of angles x, y, and z in the figure. m||n. »

> Fy
¥
\
4
.
=

Lx= : /—7‘63’: /JO

P — Krog— GTET0ET
P ~

Answers 112
112
68

s e e el i 17 = —maune S

45. Find the perimeter of the egular;olygon hown to the right. 37\ ’55‘

Perimeter= | (1)+ /f g ;’ -
g peecs) 31

nswers 234 - Z g /]/
— IR T

150f36 312612019, 8:51 AM
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46.  Find the area of the given geometric figure. If the figure is a circle, give an exact area and then use
3.14 as an approximation for n to approximate the area. 3

~ ,L V=
V (3)?}/«— /D
A=t

The exact area of the circle is (M ___ R §
(Simplify your answer. Type an exact answer in terms of x.) : r/b (/ , 3 -)

—— a7 (1515 )
The approximate area of the circle is ] (V) L I

(Simplify your answer. Type an integer or decimal rounded to the nearest thousandth as needed.) /_‘;[ 7‘" ( L4l s )

/]

(1) O cuin. (2) O cuin.
SR A5
A =3 1% (1, b
Answers 2.25n A -__3 /Yy ([' S')ﬂ g_)

(1) sqin. A3 /(225D
7.065 \
(2) sqin. @ /.0 6‘\)
47. Find the area of the given geometric figure, I5m {5

Trapezpid |4
E-""' I4m
C

19m

The area of the trapezoid is (e _(

{Simplify your:nswer.) /4’ = 2 (A' ‘F/-S) /—)l

(1) O sqm. A= ,2%(/7¢/5)(/g/
() eum

Om A= é (39)(77)

Answers 238

A
{(1)ysqm. ﬂ: - g/7(

e
—

l6of36 3/26/2019, 8:51 AM
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48, Find the area of the geometric figure. 1 2em |
[ l { 15 em IS em
7, (el T 0N

(’ \/"f’f) 4em
C3) -

.*"'%Lt bese v
-
The area is (1) . (Simplify your answer.) A t l o
T el ?‘/ Ta L

(1) O centimeters /)z 7 FH- « 677
() square centimeters _ rectanm (,{ Qv €4
) cubic centimeters A= i(GDCZ) A. o L,é\/ _? 6 r&L,)O

A~ {'(“') Af(‘?)(q) + § Treyt

Answers 42
—
(1) square centimeters ’* @ @
@

49, Find the area of the given geometric figure. B mi

l || L
I5 mi i
l : U 6 mi
N

2() mi

The area of the figureis / @?W
(Simplify your answer.) .
. I ¢~ i 208 2o Veckeny §
(1} O mi v Q-LGV:)L( @ L
) cumi. y (’ L

) sqmi. :‘—_q\\ ,
Answers 192 (El/ [ { A ﬂl) /G)

(1) sq mi. /4 Fin ‘ @
A :(C‘)(@ /ZO (rOJ,W

17 of 36 3/26/2019, 8:51 AM
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50. Find the area of the geometric figure. - ] !_—1 )
e area is : :
4 em (Simplify your answer.) @
/) &
(L ) Q
/[ =L/
‘ Ac ﬁ/)/ v/
4cm
(1) O centimeters ( H_ L ,( G O
() square centimeters /q =17 A —(-6) m
() cubic centimeters A -1 (Cf,_{_ ¢ ) [07/ 3(’6 /
Answers 52 e__ R (Z) ﬁ) "—%"I’—:’_‘
{1) square centimeters A - ’LL ('7 ) L -
R g o Mf— e
51. fin " __’_,,,_.r-"‘""""
Find the volume of the solid. Give an exact Vo me and then appr xjimate using —- for . K,_.w—ﬂ" o ';.J
D - 87 7/ c (z) Bl ===33in H
The exact volume is T4 | P Vn 1"‘/‘ l/ o~ _,.. r‘ H

{Simplify your answer. Type an exact answer in terms of .

=@ (3D / y V=& (7Y
The approximate volume is l_] (2} . — i (
(Simpﬁg your answer. Type an integer, fraction, or mixed number.) V T’((()( ) / U - < (/ )/ ) /7 §}

_ 53
(1) O inches {2} O inches I/ W(/é)/ / ’ ZL (/(Jg g}
() square inches () square inches \/ - "]‘75 Zf )
e 2L Zz S" 25

() cubic inches () cubic inches
V< //c/f

3 - 7
1659? ~ }
(2) cubic inches V‘ {6 §—T 7 /Gr? 3/7

Answers 528xn

(1) cubic inches

— S
18 0f 36 262019, 8:3AM
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-~

52. Find the volume of the solid.

= £ Y

1854
- | I2cm
V= %(G)W /‘f?L}’
- J{I f |
V= 4 ()6)(IV st S
VY15 (&>
The volume is (1 . (Simplify your answer) g &
(1) O centimeters (6(
() square centimeters :‘_
() cubic centimeters :
Answers 144 @
{1) cubic centimeters
—— T ——
53. Find the exact volume of a walfle ice cream cone iameter and a 3in.
height of 17 inches. — [ % _|
D=2 r’ { ¥ I
= 'Lz_ D 17 in,
r~ (¥ 1
- 2
=

The exact volume of the waffle ice cream cone is (1)
{Type an exact answer in terms of . Use integers or decimals for any numbers in the expresswn )

1 sq in. IT/’A
m o ’V/gpp(/;) ~17)

O cuin.
Answers 12.75n f- J—‘r [I- S)//. 5) /’ 7)
(1) cuin, (/’_‘ if(lozf)(/’7)

______________ l/,_ ,Lrv /3Zr:21')
s

@/&.75“,}’7

\

19 of 36 3/26:2019, 8:51 AM
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54, A computer has shape of a rectangular solid. Find the volume of the computer, with dimensions of 3 inches by 3 inches by

3.1 inches,

The volume of the computer is nm
{Simplify your answer. Type an integer or a decimal.)

{1) O sqin.
i,
) cuin,

Answers 27.9

V=Cuw lt

V= G))50)

V= a(31)

V215>

{(1ycuin,
— — = -C:'—l.l::(—[—c(—ad—fﬁ‘
55. Find the area of the shaded region. Use the approximation 3. ilf for m.
) R ]z b A= T r
=3/ (2

< 4D
{(Ii)

= 3.!(‘-((

(1) O cuin.
O sqin.
O in

Answers 69.66

(1) sqin.

A= ?r’Y/‘i ‘i} /} 31%)

o {e L Y ——

A.:Lb\/ ] C
A= (10018 4 \
N

L=/7

22 W
— 25Y%, 39

56. Solve the equation.

-2y +2= =2(2y +6)

A~

~ 2942 = —2(29+¢)

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

OA. y=
()} B. The solution is all real numbers.
() C. There is no solution.

{Type an integer or a simplified fraction.)

—1

Answer: Ay = -7

,_2.7,,(~L’;,__Cf7 —
—q &=L <
—29 = TYg —1Y¥
Ty = g T g

(Type an integer or a simplified fraction.)

—%¥9)—(2~2

20 0f 36
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X —7 = 371 /rx

(6~ = 3+/¥X 17

16x-7=3+14x /G/( - /&ﬁ)(—’ﬁ/o

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

J6 5~ i TIFR71o ~/ LK

57. Solve the equation.

O A x=

) B. The soiution is all real numbers. 2 X < /O

) €. There is no solution. —2_'__7( - /I
Z €T

Answer: A, x = 5 X - }::"““

58. Solve the equation. —3 ( S._)/ ()< 5x
- 3(5x - 6) = 3x 55X ~+ (Y= 2 x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
~UsXHFAG = I~ §
{7 B, The solution is all real numbers. ld_/ 3-2/ '_-/ f

() €. There is no solution. —/ 5-)< “‘3 X ﬁ/{ / 57 /
nswer: A, x= " (Simplify your answer. .__/ 57‘( -« / i
Answer: A, 1 (Simplify y ) —,zlx ﬁ -

..———'_'_'_'—_'_‘_‘—'—-—..__.b______“_-_
6()(%5)"‘“3* o

59. Solve the equation for x,
cX+ (7~ 7 = ¥o

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

X+ Y0 =2

O A, x= {Simplify your answer. Type an integer or a fraction.)

(O B. The solution is all real numbers. 6\(7‘ %’6:- % - 9’13-—91_)
() €. There is no solution.
6x =z O

-
Answer: A, x= H (Simplify your answer. Type an integer or a fraction.) 6X - é@\

60. Solve the equation. /0 — ( & ,_[) il 2
10-2@a-1) = 9+a /O —2a F2. < Fra

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

—2a 1L = 9+CG_

OA. a= (Simplify your answer. Type an integer or a fraction.)

(O B. The solution is all real numbers. —2a }L/ —f/"{ = 91 a— /o
() €. There is no solution. —Za\ = a —_— 3
—24 ~(a. T [GA—-3 ~la
Answer A . a= ! 1 (Simplify your answer. Type an integer or a fraction.) /-)) -3 = .-',__3_

e

S G

YA, x= {Simplify your answer.)

6(x +8) -8 =40

2lof36 O
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i 9= 693
LG AT 4T 6y 1T+ 9

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

—29 = 69 132

61. Solve the equation.

-2y-19=6y+13

O A. y= (Type an integer or a simplified fraction.} L g
- ~l9—6y <ggr31—67
(O B. The solution is all real numbers.
() ©. There is no solution. . g = 3 2
—g _ 22
Answer: A.y= -4 (Type an integer or a simplified fraction.) —_—

-7 -7

62. Solve the equation, ’3?{(2) ~+ '%:(2) - ,221 (2) LC D

3 (1) +s(1) =700

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

OA. xe S +1 = =7
() B, The solution is all real numbers. 3 ,( "'f /"/f - -7 —$

(O €. There is no solution, 3 X —at L @
=Y
Answer: A, x= -4 | %( = —é__z: /5_7 /\/
63. Solve the equati-on for x. "ZE%(( Cr) = 3'{‘ (CT) - ‘_,{' (q‘j m_‘\%g?
ex-3 =" 25 (1) —((3) =1((3)

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
2. x — e q
O A x= {Simplify your answer. Type an integer or a fraction.)

() B. The solution is all real numbers. X — %—f— 5 o ﬁ-ﬁ 3
() €. There is no solution.
2x = 2

Answer: A, x = l 6 {Simplify your answer. Type an integer or a fraction.) ? )( { Z
- X - L&

N
N o
]

1
N~

X+

220f36 312612019, 8:51 AM
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64.

65.

23 of 36

01‘7)< _C“q = O"B
0.5 ~GcG+6 9 <0.376-7
0.9x-69=03 Oo G A/': 7‘2 7

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
0’ 9’( — 7r L
——————— — ———

5
() B. The solution is all real numbers. a’ % 7

() €. There is no solution. ( X —_ 7 )

Answer. A, x= 8 (Simplify your answer.)

Solve.

O A x= (Simplify your answer.)

Solve the equation. o G —25 = Ax— 2. 5
9x - 25=8x - 25 IX—25 &5 = 5’:(—-—;4"77?

—

—

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

I —8X = Fx—TFTX

A. x=

B. The solution is all real numbers, i_{ _: O

C. There is no solution. /( J— O\
Answer: A, x= 0

3/26/2019, 8:51 AM
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66. The perimeter of a geometric figure is the sum of the lengths of its
sides. The perimeter of the pentagon (five-sided figure)} on the right
is 168 centimeters.

a. Write an equation for perimeter.
b. Solve the equation in part (a}.
c. Find the length of each side.

a. Choose the correct answer below,

(A, x+x+x+3x+3x=9

OC. ax’=18
7D, x+x+x+3x+3x=18

b.x= {Simplify your answer.)

¢. The shorter sides have a length of (1)

The longer sides have alengthof

(1) O em. (2)
i) em?.

(U"l) Sl

Answers D. x+x+x+3x+3x=18
2
2

(1) cm.

(2) cm.

TG

hutps://xlitemprod.pearsoncmg.com/api/v 1 /print/math

X centimelers

X centimeters X centimeters

3x centimeters 3x centimeters

X+ X+ X+3.0724 TIf
[ XX TUXA4IX €37 T )y

() B. x+x+x+x+x=18 ?’l/:'

[y
7

G o

-
—

| {(Simplify your answer.)

. (Simplify your answer.) (/ ;

=3xz3(2)<

24 0f 36
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67. Solve the inequality. Graph the solution set and write it in interval notation,
2x< -4

Choose the correct graph below.

O
w

() A i) ———]

1
T .
AT6-54321012345678 4765432101 234353678
TR TS SV DU R . YA N TN TOUNN DUURNY TR Y TN TN W Jlll'lnlllm
Oc.<vxuv,;’|||lllillirOD.‘*lillll‘rv
$-7-6-5-4-3-2-1012345¢8678 8-76-5-4-3-2-101 2345678

(B, < Chmimiippjidy- (|
8-76-543-21012345678 8-7-6-5-4-3-2.101 2345678

The solution to the inequality 2x< -4 is l L. Z,X < - (/
(Type your answer in interval notation.} 22X —C
== <7

Answers

C. B8-7-654-321012345678

(_m'_Z)

e

=
68. Solve the inequality. Graph the solution set and write it in interval notation.
-8x=<16

Choose the correct graph below.

O) A, e {——_———r——— (") §, -d———(—] et
B7654-3210123458678 B-76-5-4-3-2-101 2345678

O C. <G ———t——]——————> O D.
B$-765-4-3-2-101 2345678 B8-76-5-4-3-2-101 23458678

. E. <ty () F,
8-7-6-5-4.32-1012345678 -4-7-6-54-3-2-1012345678

. '__,-"'----- z & " :
The solution to the inequality —-8x<16 is l 3)( é ( 6 Vt;&, é L ""“-\\
{Type your answer in interval notation.) — ()’9( )

r—

Y
%,

resctus af
Answers - - —-—Z TL(,‘/m a / / 3 <A_,

D. -8-7-6-5-4-32-10 12345678 i C v o A

[-2.)

25 of 36 3/26/2019. 8:51 AM
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69. Solve the inequality. Graph the solution set and write it in interval notation,
-03y<-21
Choose the correct graph below.

il
a__,.'A.H—H‘—H—*—H—'—’—FH—H—W B.
B8 6 4 2 0 2 4 6 8B 112 -8 6 4 2 0 2 4 68 8 10 12

O C. imtmimimimmimimpisienienieinie]
8 6 4 2 0 2 4 6

The solution set in interval notation is

Answers
A 86420246 81012

(7.,00)

70. Solve the inequality.

4x=5<Tx+1

The solution set is |

Answer: { - 2,00}

_-'—'_'_F'_._—

————
—OX A2 2 2(7-)( -¥X2 12
TOX 7 2 s ~9X & (5
The solution set is[ ] (Type ;our answer in interval notation.}—@')(,fZ:;C/ ;/{ / :fza(—'\ :.? é _%

~6x > ~2x +41

71. Solve the inequality.
-6x+222(7-x%)

Answer: (- oo, - 3]

=  ExS, 5 SR reRZ X Aflefx
72. The perimeter of a rectangle is to be no greater than 70 centimeters and T VJ\
the width must be 10 centimeters. Find the maximum length of the
rectangle. §l| 1 cm
Xcm
2_’:19. maxinl'n:Jm Ie;mgth of the rectangle is | M / < 2/ 2 wu
ype an integer.
272w =
MO e 2X +2(s0) <70 [twrile
O em”,
O em. ZX 1l < 7o ‘(é
et 4055 & Jo-20 s
Answers 25 2/ % < ,S -
(yem. -

—_— e
26 of 36 Bt F—— — 3262019, 8:51 AM
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73. James and Bethany Morrison are celebrating their 10th anniversary by having a reception at a local reception hall. They
have budgeted $5,000 for their reception. If the reception hall charges a $80 cleanup fee plus $32 per persen, find the
greatest number of people that they may invite and still stay within their budget. %, K __(_ 9 o e (6 O

James and Bethany can invite at most people to the reception. 3 ZK ~ %‘% ‘._f_ 000U 70

{Round down to the nearest whole person.) 3 V4 X < < 9-7 /9 X{ [ $3,y7 75
- ]
Answer: 153
74.
Find the x- and y-coordinates of the point C. Gu-.-'
|

The coordinatesof Care . Sl |
{Type an ordered palr) 1

2

¢) L
[ A S T T >
- ) -6 -4 -2 1 2 4 [
q

g 7 W@ 1 _

-3

.5

Answer: (1,4)

27 of 36 3/26/2019, 8:51 AM
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75,

28 of 36

For the equation, find three ordered pair solutions by
completing the table. Then use any two of the ordered pairs
to graph the equation.

y=3x

Complete the table below.

LS y
¢

-6

Use the graphing tool to graph the equaticn.

Answers 0 Lj

https://xlitemprod.pearsoncmg.com/api/v1/print/math

MY

._4._2'

-2

-]

-8

-

-

3/26/2019, B:51 AM
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76.
For the following equation, find three ordered pair sclutions Ay
by completing the table. Then use the ordered pairs to 101
graph the equation. 8:
y=-2x+5 6
Find three ordered pair solutions of the given equation. 4'_
2
x ¥ ) .
0 | I ! 1 ’ L) L) 1 | ] M 1 ht L] 1 >
—|= -10 -a '6 -4 -2 - 2 4 E a 10
1] | 2
2 | 4
Use the graphing tool to graph the line. .
-8
-10-
Answers 5

29 0f 36 3/26:2019, 8:51 AM
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77.
Graph the equation. Ay
20-
=2x+7 ]
/ 16+
Use the graphing tool to graph the line. 124
8

WWWWWW_)
20 16 12 8 4 ] 4 8 12 16 20

Uf‘«,L; \l
T > fOﬂ)

—

LT R

~
\:'l-
-
w/
L
Cl
C
4
~)

-]

300f36 3/26/2019, 8:51 AM
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78.
Graph the linear equation. " j\y

y= -2.5x+4

Use the graphing tool to graph the equation. &

L

2ac
f=]
o
o
A

.
r
N
.y
o
00 =4
-
S

Answer:

310f36 3/26/2019. 8:51 AM
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79.
Write the statement as an equation in two variables. Then My
graph the equation. 104
The y-value is 1 more than the x-value. 8:
B~
Write the statement as an equation in two variables. 4‘

] N

{Type an equation using x and y as the variables.)

o
-
o
co-
—_

=

Use the graphing tool to graph the equation. 10 & 6 4 2

Answers y =x+1 7 S )(—f}

|

320f36 3/26/2019, 8:51 AM
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80. Given the following function, find - 3), {0), and (5). é_(/ z _%(-{ Y g

g =4x+4 A=) < 963) <Y A0)= Yro)+y A(c)- 9‘/52749//
ft-3)= {,«f._;) T ~lry /45-): 2o~ |

f(0)=_ - @') T—?_“ /%g’) _ 2———%\\

f(5)= d
.'lllf
Answers -8
) /
24
'__._____...—-—'—'_'_-_._-_ — _-_-_-_-_'_‘—-——_
= o
81. Given the following function, find f( - 3), f(0), and (5). ‘ ’(/ =X -

fixy=x? -2 /("3) - (-QZ-L
f(-3)_= __1_' /[('*’5) = [—3)(—'})—-
f0y= . /4.-)) - ﬁ'—-

Answers 7

-2
23

33 of 36 3/26/2019, 8:51 AM
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Graph the linear equation. Ay

f{x)= —4x

Use the graphing tool to graph the equation. 6

v>=

Answer:

34 0f 36 3/26/2019, 8:51 AM
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83.

Graph the linear equation. 0 j\v
f(x)=-3x+5 A
() N
Use the graphing tool to graph the linear equation. €1
44
&
X
L) T 1 S [ T | ) i>
i -8 6 4 2 ] 2 4 & 8 10
-2-
Answer:
T T
0 -B B

84. The function V(x) = xa may be
used to find the volume of a
cube with side length x. Find
the volume of a cube whose
side is 15 centimeters.

I (1s) = )
V(i5) = ((s-)(fr)((r)

V(iis)= 2¢s(fs)
The volume is l cubic centimeters. (Type an |

ra-decimal}—mm"_ O _
/(js)= 3 375’)

-+ .
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85. |fy varies directly as x, find the constant of variation k and the direct variation equation for the situation.
y =6 when x =24
Find the constant of variation k.
k= {Type an integer or a fraction. Simplify your answer.)
Complete the direct variation equation given y =6 when x = 24.

y= {Use integers or fractions for any numbers in the expression.)

e

Cl fv=< c.,l{f7

Answers 1

E-Y

3/2672019. 8:51 AM -



